Week Four Worksheet

1. Write the conjugation of the verb sum, to be, in Latin in the present tense and opposite each word write its English meaning.



SINGULAR NUMBER


PLURAL NUMBER



LATIN


ENGLISH

LATIN 


ENGLISH

1st person  ______________
_____________
_____________
____________

2nd person  ______________
_____________
_____________
____________
3rd person  ______________
_____________
_____________
____________

2. Underline the endings, and then translate the following sentences, after marking the case and number above each noun.  Sometimes one meaning will make sense but another won’t.  Try each one.

a.  Estis altae puellae. __________________________________________________________

b. Sum in magnā silvā.  __________________________________________________________

c. Poetae non sunt amicae feminae. _________________________________________________

d. Magnae balaenae sunt in altā aquā. _____________________________________________

e.  Novae villae sunt in silvā. ________________________________________________

f.  Sunt albae stellae. __________________________________________________________
g. Est magna sapientia in prophetā.  __________________________________________________________
h. Balaenae habitant in altā aquā. 

__________________________________________________________
i. Puella est bona puella.

__________________________________________________________
j. Auscultamus bonam prophetam.

__________________________________________________________
k. Terra est magna. __________________________________________________________
l. Poeta non lacrimat. __________________________________________________________
m. Femina bona curat familiam magnam.

__________________________________________________________
n. Habitatis in novā villā.

__________________________________________________________
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